COLBY BENNARDO, PE
PE# 95197 CA# 9885 |

:Digitally signed by

!Colby Bennardo
Date: 2023.08.21
113:58:40 -04'00'

FL# 16219.2

AUGUST 21, 2023

TOWN & COUNTRY INDUSTRIES
COLONIAL SHUTTER (HVHZ) - PATENT #8126298
IMPACT / NON-IMPACT - HVHZ

NON-SITE-SPECIFIC STRUCTURAL PERFORMANCE EVALUATION. A DESIGN PROFESSIONAL SHALL BE
RESPONSIBLE FOR CERTIFYING THE APPLICATION OF THIS INFORMATION TO ANY SITE-SPECIFIC LOCATION.

0.128"

r0.307"
r0.375"
r0.375"
r0.402"

NOTE REGARDING USE
OF THIS DOCUMENT & USE OUTSIDE FLORIDA:

NON-SITE-SPECIFIC STRUCTURAL PERFORMANCE EVALUATION. THIS
PRODUCT EVALUATION IS VALID FOR USE IN FLORIDA ONLY. USE OF THIS
EVALUATION REQUIRES A REVIEW & CERTIFICATION BY A LOCAL DESIGN
PROFESSIONAL WHO SHALL BE RESPONSIBLE FOR THE PROPER ADAPTATION
OF THIS GENERAL PERFORMANCE EVALUATION TO ANY SITE-SPECIFIC
PROJECT. CONTACT THIS OFFICE AT ENGINEERINGEXPRESS.COM/QUOTE
FOR ASSISTANCE WITH YOUR PROJECT-SPECIFIC NEEDS & FOR ADAPTATION
& CERTIFICATION OF THIS DOCUMENT OUTSIDE OF FLORIDA.

0.050"
@0.155"

GENERAL NOTES:

= 1.

THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT APPROVAL EVALUATION AND

4.017"

3.682"

864"

1.791"

132"

@.348"
.100"

N

.105"

R0O.100"

20
1.792"

2.118" ,

R0.050"

2" BAHAMA BLADE

SHALL ONLY BE USED IN CONJUNCTION WITH THE EVALUATION REPORT SUBMITTED FOR THE
SAME PRODUCT APPROVAL.

THIS SYSTEM HAS BEEN TESTED AND EVALUATED AS A LEVEL D LARGE MISSILE IMPACT
PROTECTIVE SYSTEM IN ACCORDANCE WITH THE FLORIDA BUILDING CODE EIGHTH EDITION
(2023), FOR USE INSIDE THE HIGH VELOCITY HURRICANE ZONE, AND THE INTERNATIONAL

@

R0O.081"

SCALE: HALF SIZE

.706" 0.260" BUILDING CODE (IBC) AND INTERNATIONAL RESIDENTIAL CODE (IRC). SEE EVALUATION FOR
MORE INFORMATION.
r0.521" 3. POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE WITH THIS SYSTEM SHALL
o BE DETERMINED PER SEPARATE ENGINEERING IN ACCORDANCE WITH THE GOVERNING CODE.
KM L R0.100" PRESSURE REQUIREMENTS SHALL BE LESS THAN OR EQUAL TO THE POSITIVE OR NEGATIVE
(. U ' DESIGN PRESSURE CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS SHOWN.
L 1.318" 1.896" R0.050" 4. TESTING WAS CONDUCTED IN ACCORDANCE WITH TAS 201/202/203 AND ASTM
— . 3.663"
2.521 5

E1886/E1996/E330. SEE EVALUATION REPORT FOR MORE INFORMATION.
4.000"

G

.326"
.L25"

53

i

0.050"

1.380"
1.200"

1.200"
=, —

1.040"

L

00’

ENGINEERING

@EXPRESS ®

POSTAL ADDRESS:
401 W. ATLANTIC AVE R10 BOX 219

NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THESE PRODUCTS.
WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR WOOD ANCHOR DESIGN.

DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY.

DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED PRESSURES DIVIDED BY
A 1.5 SAFETY FACTOR.

4" BAHAMA BLADE 6.

SCALE: HALF SIZE

DELRAY BEACH, FL 33444
ENGINEERINGEXPRESS.COM

MUNTIN
SCALE: HALF SIZE

JAMB
SCALE: HALF SIZE

JAMB SNAP
SCALE: HALF SIZE

—. 145"

c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.2 - dwg.dwg

8/21/2023 10:30 AM  MATTHEW

l

2.142"

.055”
TYP.

R13.

COLONIAL BLADE

R13.851"
R.081"

3.875"

r.145"

195

7

N

796"

1.510"

R.250"

| 1.125"
1

R.ZAS“—\

A45¢

1.900

4.120"

4.510"

SCALE: HALF SIZE

WALL HINGE

SCALE: HALF SIZE

2.755"

2.365"

245" q

v

R.2£+5"/

.910"

FLAT HINGE

|

2.190"
2.000"

2.280"

1.606"

L 190"
TYP.

520"

SCALE: HALF SIZE

2.190"

2.000"

L 190"
TYP.

1.606"

2.000"

Ll
1.796"
/%

7H;.090"

—.060"

750" |,

2.521"

1.410"

1.621"

1.590"

HEADER / SILL

SCALE: HALF SIZE

2.625"

3.875"

R.ZAS”—\

4.120"

3.015"

4.510"

BUILD-OUT WALL HINGE

SCALE: HALF SIZE

1.000"

3.000"

3.000"

,1.000"

1.375"

625’

4.190"

8.000"

"Z" BAR - PROFILE & LAYOUT

(9

SCALE: HALF SIZE

1.000"

3.000”

3.000”

,1.000"

1.606"

8.000"

1.375"

625’

1.796"

ANGLE

SCALE: HALF SIZE

250"

LOCKING
FLARED END

|

2.500" |

L-PIN - 1/4"

@

SCALE : HALF SIZE

6.000” FOR STACKED HINGE
3.000"” FOR NOTCHED HINGE

N—

il

ALT. HINGE PIN

O,

SCALE: HALF SIZE

—.080"

1.188"

@

EQ.

EQ.

(1-ANCHOR) .

1.188"

.15’

P

@

75"

(2-ANCHOR)

"C" CLIPS

4=

10.

11.

12.

13.

15.

16.

17.

18.

20.
21.

22.
23.

FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH ASCE 7, A DIRECTIONALITY FACTOR OF
Kd =0.85 SHALL BE USED.

THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A
SPECIFIC SITE.

PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING STRUCTURE TO WITHSTAND
SUPERIMPOSED LOADS.

ANCHORS SHALL BE INSTALLED PER MANUFACTURER RECOMMENDATIONS. MINIMUM
EMBEDMENT AND EDGE DISTANCE EXCLUDES STUCCO, FOAM, BRICK, AND OTHER WALL
FINISHES.

USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER 61G15-23 OF THE
FLORIDA ADMINISTRATIVE CODE.

THESE APPROVAL DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE CONTRACTOR PROVIDED
THE CONTRACTOR DOES NOT DEVIATE FROM THE CONDITIONS DETAILED HEREIN AND THE
CONTRACTOR VERIFIES THAT THE EXISTING STRUCTURE DOES NOT DEVIATE IN EITHER FORM
OR MATERIAL FROM THE STRUCTURAL SUBSTRATES DETAILED HEREIN.

ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS WILL VOID THE
APPROVAL DOCUMENTS.

EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED WITH THE SPECIFICATIONS
LISTED BY THE FLORIDA DBPR.

ALL EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N., WITH A MINIMUM Fy OF
25 K.S.I.

ALL BOLTS AND WASHERS (EXCLUDING INSTALLATION) SHALL BE STAINLESS STEEL WITH A
MINIMUM TENSILE STRENGTH OF 60 K.S.I., U.O.N. POP RIVETS SHALL BE 1/4"@ OR 3/16"@
5052 ALUM. ALLOY.

REFER TO FASTENER MANUFACTURER'S PUBLISHED DATA SHEETS AND RECOMMENDATIONS
FOR FASTENER INSTALLATION INSTRUCTIONS.

MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION PROVIDING WIND LOAD &
IMPACT RESISTANCE = +69.3/-79.5 PSF FOR ALL NON-SLIDING PANEL WITH TRACK
CONFIGURATIONS. MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION FOR ALL
SLIDING PANEL TRACK CONFIGURATIONS = +57.2/-66.2 PSF.

MAXIMUM ALLOWABLE DESIGN PRESSURE IN OPEN POSITION = +/- 28 PSF

SHUTTER ASSEMBLY MUST BE CLOSED AND SECURED AND SHALL NOT BE LEFT IN THE OPEN
POSITION IN THE EVENT OF A WIND STORM EVENT.

ALL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED OR PLATED.

ENGINEER SEAL AFFIXED HERETO VALIDATE STRUCTURAL DESIGN AS SHOWN ONLY. USE OF
THIS SPECIFICATION BY CONTRACTOR, et. al. INDEMNIFIES & SAVES HARMLESS THIS
ENGINEER FOR ALL COST & DAMAGES INCLUDING LEGAL FEES & APPELLATE FEES RESULTING
FROM MATERIAL FABRICATION, SYSTEM ERECTION, & CONSTRUCTION PRACTICES BEYOND
THAT WHICH IS CALLED FOR BY LOCAL, STATE & FEDERAL CODES & FROM DEVIATIONS OF THIS

PLAN.
EiE

VISIT ECALC.IO/TOWNCOUNTRY

FOR SITE SPECIFIC DEVIATIONS
& MORE INFORMATION ABOUT THIS DOCUMENT

OR SCAN THIS QR CODE I

VISIT ENGINEERINGEXPRESS.COM/STORE
FOR ADDITIONAL PLANS, REPORTS & RESOURCES

375y 1625 )
MIN.

®.270"

1.0" TO
HZ.O”

[—

2.0"

1.0” TO

—— . 112"

1.188"

3.250"
SECTION A

SCALE : HALF SIZE

S untry

n

Wholesale Aluminum and Building Products

Tow

ADiiicn o ABC Suppy Co, Ine.

400 WEST MCNAB ROAD, FT. LAUDERDALE, FL 33309

COLONIAL SHUTTER
FLORIDA BUILDING CODE EIGHTH EDITION (2023)

FLORIDA STATEWIDE APPROVAL (FSA FL#16219.2)

7/01/20
8/21/23

DRWN |CHKD | DATE
CCB |RWN
MLD |CCB

FBC 2020 (20-26193)

FBC 2023

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

23-64831

SCALE:NTS UNLESS NOTED

OF

7

J



https://ecalc.io/towncountry
Reception
Text Box

Reception
Text Box


c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.2 - dwg.dwg

8/21/2023 10:30 AM  MATTHEW

COLBY BENNARDO, PE AUGUST 21, 2023
(3) ANCHORS PE# 95197 CA# 9885 I i,
REQUIRED, SEE Z-BAR SPACE RESERVED FOR DIGITAL SEAL | O\ N BENN, .,
\J W\CENSx"-
SEE Z-BAR ANCHOR SCHEDULE FOR SEE Z-BAR ANCHOR SCHEDULE FOR o ANCHOR SCHEDULE e LY <rLen T o I SPLveEselo
CONNECTION TO EXIST. STRUCTURE, TYP. CONNECTION TO EXIST. STRUCTURE, TYP. FOR CONNECTION TO G ey IS I 3 Noostia7 . =
FOR ALL Z-BARS (190R() FOR ALL Z-BARS EXISTING STRUCTURE | 7 =
DETAIL C » DETAIL DETAIL / TYP C » WHEN PRINTED OR PHYSICALLY SEALED, * =
r_\ 5 0O r_\ > —_— ! O 0 SEAL OF CERTIFYING ENGINEER, AND I z =
)—-J:, L J )—-~, L \" L J DATE OF CERTIFICATION SHALL BE N w =
7 \ , l \ 7 AL; \ SHOWN TO THE RIGHT. I E OF e‘”\:
'l 20 } k5 [ 25 } '\ 25 ) e OR@ IN ALL CASES, CERTIFYING ENGINEER | SoRr10® - > N
7 pr— R 7 \ 7 — AND CERT OF AUTH AS LISTED ON STAMP 7 S IONAL ee \g\
- [ 1/4-20 S.S. MACHINE SCREW INTO =] X [ 1/4-20 S.S. MACHINE SCREW INTO LY SCREW SHALL BE #10 x FL# 16219.2
% ASSEMB
2 %_/ ———1/4-20 ALUMINUM RIV-NUT AT EACH g %_/ [~ 1/4-20 ALUMINUM RIV-NUT AT EACH /" 2" HWH 410 HT. STAINLESS STEEL
> @_\ —— VERTICAL N < @_\ VERTICAL \ SCREW XYLON COATING OR EQUIV. L] %
3 n
\
2| (&) \ =l (&) MUNTIN(1 JREPLACES ANY (2) 4 X <5
NtoAY) \ oA COLONIAL BLADES(S)) = RIO0
i 5 B ] I 5 % 1 ol 473" MIN. OCinp 6ony
z e s S— § (] —— % L[] —¢— [ SEPARATION I'”UJ Rt
X T TE .0 3 o T .0 = FROM GLASS Wy £, g
" (o lrs) (V)] O o m (A > I‘ <
@ WL P Zr 2354
L _/ b o = W/ o o n u<9
| BEAM ey | BEAM St OQ IEWZ
5 Tos 3 Tob ZX 5356
] [TN]
ﬂa_Jg>Lu v ﬂ;_Jg>|.u BEAM m',u o|_§LIJ
l V¥ w3z I V¥ w3z g%z
— Z4z — 4 INSTALLATION OF BLADES MAY =32
: & Iy . e T 5w BE REVERSED Z -
| o [l w kB o0 e E5e [l wl kB s
FmZ \ FmZ
[ iy Z+0 [ =y — I Z4+0 (4) 1/4-20 ALUMINUM Al
R@ O w \_@ : U w RIV-NUTS o
‘ TYP. @ @ 1oRE) gl ==
34.00" MAX. 34.00" MAX. 34.00" MAX. 34.00" MAX. 34.00” MAX. 2|l Sa
o~
SHUTTER WIDTH = 68.00” MAX. SHUTTER WIDTH = 102.00" MAX. | = ©
#14x1" STAINLESS STEEL SMS w| O
BEAM SPAN BEAM SPAN FLAT HEAD OR ROUND HEAD z| EZ
| E
TYPICAL ELEVATION 2 PANEL e TYPICAL ELEVATION 3 PANEL E%i <, 8 &
- AT - T T : ~—~1 L
SCALE: 1/2" = 1-0 SEE Z-BAR ANCHOR SCHEDULE FOR SCALE: 1/2" = 1-0 PICAL PANEL SECTION §'«5‘;§ S E L=
CONNECTION TO EXIST. STRUCTURE, TYP. 285 T T
I ! = 2
DETAIL (190R(Y) FOR ALL Z-BARS BEAM SCHEDULE SCALE: 3" = 7-0" gagi. 202
2N DETALEN /' “TYP. ~/ _ R N
>0 = L = : oSN ERE:
‘ l S ey = b2 NCHORS A SPAN WALL BRACKET ANCHOR TYPES (+69.3/-79.5 PSF MAX) ,:_\/}% 5 <E: S a
\BE, ey B 4—] REQ'D AT EACH BeaM size | ARUMINUM | SHUTTER 720 psr WOOD (G=0.42 S EIEEE
- - WALL-HINGE. ALLOY SPAN MAX) CONCRETE HOLLOW BLOCK =0 2 “|o 2 =
SEE WALL-HINGE MIN) g 2105 3
. — ANCHOR H £z| 2k
X 1/4-20 5.5. MACHINE SCREW INTO SCHEDULE FOR 8'-1.75" 56" AB,CD,E ACE B.C sl 2F
- - 0
< @_/ ://;RTZI(E:E_UMINUM RIV-NUT AT EACH CONNECTION To 23 1/8" 6063-T6 68" 6 1" AB.CD.E AB.C.E B.C = e
in @‘\ ! e e TURE 5-10" 66" AB.C,DE ABCE B.C gl 25
= R—\\ 8'-1.75" 6'9" AB,CDE AC, B.C | &9
o
- ® g + . ol 2"x4"x1/8" 6063-T6 6'-8" 7' 5" A,B,CD,E AC, B.C g| + &=
- L o o oo 2 ey % 5!_10" 8| Ou A,B,C,D,E A,C, B,C — T
< L e e e e e e e = e e e = e = e e e — e = P = e e = e = e = el & —— — ——— ——— —— g - - — | " T =S iG]
1| B > 8-1.75 80 AB.CDE AC, VA slaal ]
o POy 2"x5"x1/8" 6063-T6 6'-8" 8' 10" AB,CD,E AC, B,C il e
ui / wid < 5'-10" 9's5" ABCDE AC, B.C 2zls
w
'5 BEAM Z g ) 8'-1.75" 10' 5" AB,C,D,E //// /// // : IO ||
v Cwo 2"x4"x1/4" 6061-T6 6'-8" 11'6" AB.CD.E AC, HEE
L oZuw 5-10" 12'4" AB.CDE AC, IR
| VW wuidZz
z < a:' ¢ TYPE A: -20 ALL POINT SOLID SET ANCHORS: =
- E:' :\1_ ] - IN CONCRETE (3.35KSI MIN) WITH %" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING ]
o0 FL 3 5 [ NG = - IN HOLLOW CONCRETE BLOCK WITH %" MIN EMBED., 3" MIN EDGE DIST. AND 3" MIN SPACING g
1 e - - — Emi « TYPE B: }" EYEWALL ARMOR MALE/FEMALE BOLT OR ¥-20 DEWALT PANELMATES (MALE/FEMALE): 2|8
P e - wtvyY - IN CONCRETE (3.35KSI MIN) WITH 1%" MIN EMBED., 2%" MIN EDGE DIST. AND 3" MIN SAPCING Et: M
(9) \—® Cu - IN HOLLOW CONCRETE BLOCK WITH 1%" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING SR
- IN WOOD (G=0.42 MIN) WITH 1" MIN EMBED., %" MIN EDGE DIST. AND 1%" MIN SPACING E @@,
34.00" MAX. 34.00" MAX. 34.00" MAX. 34.00" MAX. * TYPE C: /" ITW TAPCON SG: COPYRIGHT ENGINEERING EXPRESS®
- IN CONCRETE (3.35KSI MIN) WITH 13" MIN EMBED., 2%" MIN EDGE DIST. AND 3" MIN SPACING
SHUTTER WIDTH = 136.00" MAX. - IN HOLLOW CONCRETE BLOCK WITH 1%" MIN EMBED., 2" MIN EDGE DIST. AND 3" MIN SPACING 23_6483 1
- IN WOOD (G=0.42 MIN) WITH 1%" MIN EMBED., %" MIN EDGE DIST. AND 14" MIN SPACING
BEAM SPAN « TYPE D: %" MILLENIUM MILLFAST (W/ T&C ULTRACOTE): SCALE: NTS UNLESS NOTED
- IN CONCRETE (3.275KSI MIN) WITH 13" EMBED, 2" EDGE DIST., AND 4" MIN SPACING
TYPICAL ELEVATION 4 PANELS MAX. - IN HOLLOW CONCRETE BLOCK WITH 1%" EMBED., 2%" MIN EDGE DIST. AND 4" MIN SPACING °F7
SCALE: 172" = 1'-0" e TYPE E: #12 SMS W/ 2" EYEWALL ARMOR NYLON INSERT:
- IN CONCRETE (2KSI MIN) WITH 2" EMBED, 2" EDGE DIST. AND 3" MIN SPACING
- IN HOLLOW CONCRETE BLOCK WITH 1%" EMBED, 2" EDGE DIST. AND 3" MIN SPACING




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.2 - dwg.dwg

8/21/2023 10:30 AM MATTHEW

COLBY BENNARDO, PE
PE# 95197 CA# 9885 I \’f‘U\?,UﬁIT 21,2023
| ! E ",
SPACE RESERVED FOR DIGITAL SEAL N 6‘( BNN ’/,/
INFORMATION | \\\\O\'\-‘GENSEQO “,
USE 2X4X1/4 AN?.E FOR 3" & 4" BEAMS, WHEN DIGITALLY SEALED, THIS NOTE | NE 0z
7/16"® x 3-1/2" LONG USE 2X5X1/4 ANGLE FOR 5" BEAMS SHALL BE FULLY COVERED ON SHEET 1 = No 95197 - =
STAINLESS STEEL BOLT WITH . TYP. TOP AND BOTTOM OF BEAM 1/4-20 S.5. MACHINE SCREW INTO 1/4-20 WHEN PRINTED OR PHYSICALLY SEALED, I * ok =
NYLON LOCK NUT 50" 50" 5.00" ALUMINUM RIV-NUT AT EACH VERTICAL JAMB SEAL OF CERTIFYING ENGINEER, AND | ‘e =
. . 50% OF BEAM v DATE OF CERTIFICATION SHALL BE TS
1.606" 2 WIDTH MIN. CL BOLT L 5.00" L SHOWN TO THE RIGHT. | EoF &<
' CL ANGLES ; BES
63" ’| ’| IN ALL CASES, CERTIFYING ENGINEER | >CoRri10™ RS
| A‘F | |CL ANGLES AND CERT OF AUTH AS LISTED ON STAMP | g IONAL g\\ \g\
" /, :
\ (o) L O . 750 — 75 ! — 75 | CL BOLT ///lll||||\\\\\\08/2K13gg§3
: ® ® /@ :
© | 1/4-20 S.5. MACHINE SCREW INTO 1/4-20 FL# 16219.2
o) o— S | - ALUMINUM RIV-NUT AT EACH VERTICAL e
(3) 3/16"® STAINLESS STEEL i ®/ JAMB =
POP RIVETS, TYP. EACH SIDE 63" ® > i T 0 N s
OF HINGE g | ; Z s¥0
TYPICAL PANEL HINGE : S T —e 8 g O
ANEL TV 2X4X1/4 ANGLE OR 2X5X1/4 ANGLE. . .
SCALE: 3" = 1'-0 ® ® A[— ® 6063-T6 ALUMINUM ANGLE, TYP. TOP EUJ Ko @A
(1) 7716”9 75" AND BOTTOM OF BEAM HUJ g
7/16"$ x 3-1/2" LONG ~2(3) W
STAINLESS STEEL BOLT WITH MACHINE BOLT BEAM SPAN " BEAM SPAN———— Wos>_-%
EMBED 1.00 Zo: o< X
NYLON LOCK NUT 50~ 50" : WITH LOCK NUT 2 =" 1.125" MIN. C 250U
' ' (2) ANCHORS REQUIRED EACH (1) 7/16"% MACHINE BOLT WITH W MIN "7 4 5o e 090
/—@ ANGLE, SEE BEAM SCHEDULE LOCK NUT EDGE DISTANCE MN T EDGE DISTANCE OQ Euzs
50" ) 63" ANCHOR SPECIFICATIONS. 3.00" C SEE BEAM SCHEDULE (WooD) SEE BEAM SCHEDULE Zx 5 % > &
i‘@ N J\ 1.00" ANCHOR SPECIFICATIONS (FRONT VIEW) ANCHOR SPECIFICATIONS ',u 8 Z i
o o - (SIDE VIEW) 100 (FRONT VIEW) WH 25 =
OR = ' (CONCRETE & HOLLOW DO
_\ O z TYPICAL WALL BRACKET CONNECTION DETAIL CONCRETE BLOCK) Z-BAR ANCHOR SCHEDULE Ea) 5
@ Q\_ SCALE: 3" = 1-0 MIN. MIN MIN 2
50" 2 2F MANUF. |DIAMETER DESCRIPTION o EDGE | EMBED. | SPAGING S
Bﬁ\ (P%F?QQ/"E?[STA'NLESS STEEL CONCRETE (MIN. fc = 3350 PSI) o
;YCF:E/EF ‘é\{f\':']'j”'\(‘ﬁ'f ibuitio sl DEWALT | 1/4 IN. [STAINLESS STEEL PANELMATE | 2.50 IN | 2.00 IN | 3.00 IN 2l 2N
s OPTIONAL ALTERNATE DEWALT | 1/4 IN. [MALE PANELMATE (or P..PRO)| 2.50 IN | 2.00 IN | 3.00 IN m| 2 %
HINGE DETAILS K1& M1 DEWALT [ 1/4 IN. [FEMALE PANELMATE 250 IN [ 1.75 IN | 3.00 IN e
P <OLID SIDE 625" EYEWALL ARMOR | 1/4 IN. |MALE/FEMALE BOLT 250 IN [ 1.75 IN | 3.00 IN g 8 ;
W 1/4 IN. [TAPCON SG 250 IN [ 1.75 IN | 3.00 IN a:s| 5%
@\ /_@ ALL-POINTS| 1/4 IN. [SOLID-SET ANCHOR 2.00 IN [0.875 IN| 3.00 IN Eggﬁ o U0
® = o ® MILLENIUM | 1/4 IN. |MILLFAST 250 IN [ 1.75 IN | 3.00 IN §§‘§,§ S E E S
HOLLOW CONCRETE BLOCK 88§25 <
=40 DEWALT | 1/4 IN. [STAINLESS STEEL PANELMATE | 2.00 IN | 1.25 IN | 3.00 IN 222 . |5 T ©
2\{2) @‘/3 3\® @‘/ : DEWALT | 1/4 IN. [MALE PANELMATE ( 6 EEDuE
ATV O T BT R Bl T TV Nl 27 ; o 5 MO R T Rl Pl . or P--PRO) 2.00 IN ] 1.25 IN | 3.00 IN C‘\'/ E o < 0O
N B LOUVERED SIDE 5 \ f DEWALT | 1/4 IN. [FEMALE PANELMATE 2,00 IN [ 1.25 IN | 3.00 IN = E 2 % 8=
A\ a 4 (INSIDE) » a EYEWALL ARMOR | 1/4 IN. |MALE/FEMALE BOLT 2.50 IN | 1.25 IN | 3.00 IN T e o928
o 4 % o W 1/4 IN. [TAPCON SG 250 IN | 1.25 IN | 3.00 IN % g 2lo5 32
i ; '§ g ALL—POINTS| 1/4 IN. |SOLID-SET ANCHOR 2.50 IN |0.875 IN| 3.00 IN H 2z = e
A 2 X 3 MILLENIUM | 1/4 IN. |MILLFAST 2,50 IN [ 1.25 IN | 3.00 IN =l alh
' ) WOOD (SOUTHERN YELLOW PINE, G=0.54) E g
DGE DIST | TYPICAL PLAN VIEW (LOUVERED SIDE IN) JEDGE DIST. DEWALT | 1/4 IN. [STAINLESS STEEL PANELMATE | 0.75 IN [1.875 IN [ 3.00 IN | 22
T . DEWALT | 1/4 IN. |MALE PANELMATE (or P.PRO)|0.75 IN [1.875 IN| 3.00 IN ol 99
(2) ANCHORS REQ'D AT EACH WALL-HINGE. / sl 2
SEE WALL-HINGE ANCHOR SCHEDULE FOR DEWALT | 1/4 IN. [FEMALE PANELMATE 0.75 IN [1.875 IN| 3.00 IN <
CONNECTION TO EXIST. STRUCTURE EYEWALL ARMOR | 1/4 IN. |MALE/FEMALE BOLT 0.75 IN [ 1.50 IN | 3.00 IN MER
W 1/4 IN. [TAPCON SG 0.75 IN [ 1.50 IN [ 3.00 IN HHHE
LOUVERED SIDE 1/4 IN. |S.S. HANGER BOLT 0.75 IN [1.25 IN [1.50 IN il
- - WOOD (SPRUCE-PINE-FIR (SPF), G=0.42) 2zgla
@~ @ | 1/4 IN. |s.s. HANGER BoLT lo75 N [1.25 N [1.50 IN SiElo
‘e 12 13 12 12 O E 8lg
- alo|=
VNG A S R B/ -0
: : \@s_m_/ln - o : WALL-HINGE ANCHOR SCHEDULE g
s DA AN dain H PP A o Pt (|NS|DE) ;f‘“'h.ﬁ‘ N X SN MIN. MIN MIN (2] g
\d 5 MANUF. |DIAMETER DESCRIPTION DISE'IDENECE EMBED. | SPACING é Sls
\ w w S|]|K
@ 0 CONCRETE (MIN. fc = 3192 PSI) B2|3
Z Z mW | 1/4 IN. |SS TAPCON 2.50 IN | 1.00 IN | 2.00 IN —
: MW [5/16 IN.|TAPCON XL 2.1875 IN 1.75 IN | 2.00 IN
O\ ¥ ;YCTCL/EL S'—A_N 1\{|E(\)",/, (LOUVERED SIDE OUT) Y HOLLOW CONCRETE BLOCK 23-64831
DGE DIST. DGE DIST. DEWALT | 1/4 IN. JULTRACON 250 IN [ 1.25 IN | 2.00 IN SCALETS eSS
MW [5/16 IN.|TAPCON XL 2.1875 IN 1.75 IN | 2.00 IN —
(2) ANCHORS REQ'D AT EACH WALL-HINGE. W00D (G=0.42 MIN) 7
Egﬁ bm/é#o-wgi ),i\ll\;ﬁ_Hgl_?r RSUC’I:-I_Fl[J);J::_E FOR #14  [SMS OR WOOD SCREW [ 0.75 IN [ 1.50 IN [ 1.50 IN
' 1/4 IN. [LAG SCREW 0.75 N[ 1.25 N[ 1.50 IN
J/




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - f|16219.2 - dwg.dwg

8/21/2023 10:30 AM  MATTHEW

COLBY BENNARDO, PE
PE# 95197 CA# 9885 I \\fﬂ?H?ITIZl' 2023
" " \ /
>0 /SL@ 50" 50" SPACE RESERVED FOR DIGITAL SEAL : \\\\\\6‘( BENN /;’/,//
— 25" /—<;) . INFORMATION SOVCENsg - By
ALTERNATE ALUMINUM PIN, T § = .62 WHEN DIGITALLY SEALED, THIS NOTE | N [ O //Z
6" LONG (PART # 16) | | O . ALTERNATE ALUMINUM PIN, O SHALL BE FULLY COVERED ON SHEET 1 | 3 No 95197 . =
o 6" LONG (PART # 16) | | N WHEN PRINTED OR PHYSICALLY SEALED, * * I =
e S & g Sex orcouing eicnces | o E
l | m 2 SHOWN TO THE RIGHT. | ? AfE OF lg’l\:
50" | CF \L | G IN ALL CASES, CERTIFYING ENGINEER | o omo}.f'.@\e\\\
LI " (| AND CERT OF AUTH AS LISTED ON STAMP St0n n 2 N
@ .625" -~ 1 625" | 1y, ONAL *®'\\Sienen:
|| THIRD HOLE LOCATION FOR 0O - Ty ognir2023
OR . (3) 3/16"® STAINLESS STEEL RIVET \ | |
N | 1| PoP RIVETS OR (2) /4" ~o ||| FL# 16219.2
@ | | 5052 ALUMINUM POP RIVETS, ) | |
4@ TYP. EACH SIDE OF HINGE 3) 3/16"® STAINLESS STEEL e [e)}
jl—\: L POP RIVETS OR (2) 1/4"¢  — | L M by
50 J 5052 ALUMINUM POP RIVETS, Z o=
Z (2) 5/16" ITW TAPCONS TYP. EACH SIDE OF HINGE < ) g (@)
AT EACH WALL HINGE. EO ..o < O
ALTERNATE STACKED WALL HINGE ALTERNATE STACKED PANEL HINGE N weBA
SCALE: 3" = 1"-0" SCALE: 3" = 1"-0" I'”UJ & E o0
o [T 4
CLOSED POSITION W E5Te
| | — Zm o< ow
| [DQ =
1 " < = mn =
| | E== S _(2) #14x1" STAINLESS Zx 5 % > 5
STEEL SMS
< W
S— d iy 8oz
Rr. e e - @2
il ‘25
=0z
— L
o
<

o))
OR (2) 174”9 ITW SS TAPCON : ™ Q 4
_ INSTALLATION POSITIONS g RV ITW S5 TAPCON 5 STeeL s °l 83
OR (2) 1/4"® LAG SCREW L] gl 8 %
SEE ANCHOR SCHED. FOR MIN. 3 ]
PLAN VIEW 1 EMBED. & EDGE DIST. g O é <
1 ' " z Egg g 5 I E_/
SCALE: 1-1/2" = 1'-0 =§§’€§ EE:('
\ Qz:%% “128%
" (1) 5/16"® ITW TAPCON XL B 2
o .  (2)#1h” STANLESS \ OR (2) 1/4"9 ITW SS TAPCON QM;E N K § g
_ PLATE 0.090"x1"x3-1/2" WITH (2) O {||OR (2) 174”8 SHEET METAL SCREW &=’ 1530w
ma?i} ) Ll OR (2) 1/4"9 LAG SCREW < 2|20
i 1/4"9 RIV-NUTS (TOP & BOTTOM N SEE ANCHOR SCHED. FOR MN. § 121552
EMBED. & EDGE DIST. =
| OF PANELS) . RE3| =k
\\’Tii s 2 G
(! |= | | = < <«
o 054 === XV -1 F—] m [alNa)
< =
e ﬂ (1) 5/16"6 ITW TAPCON XL i &5
e OR (2) 1/4"® ITW TAPCON S 22
R N N\ B NG OR (2) 1/4"¢ SHEET METAL SCREW =
¥ OR (2) 1/4"® LAG SCREW MEIE
g CLOSED POS'T'ON SEE ANCHOR SCHED. FOR MIN. AN
8 EMBED. & EDGE DIST. IS
& o
a' ¥ Z\m
§ OPEN POSITION LOCK 528
Y 4
3 ANCHOR SCHEDULE: (HINGES NOT SHOWN FOR CLARITY) EE
olo|=
- WITH "C" CLIPS OR DOUBLE "C" CLIPS: (DOUBLE "C" CLIP) (SINGLE "C" CLIP)
TO 2899 PSI MIN. CONCRETE: 8
PLAN Vl EW 2 e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN. EMBEDMENT AND 2" NOTE: 3
MIN. EDGE DISTANCE. CLIPS REQ'D TOP & BOTTOM FOR SPANS > 69”. ONE CLIP REQ'D AT MID-SPAN (+3") FOR e
S - " =1=0" TO 3192 PSI MIN. CONCRETE: SPANS < 69", AN
SCALE: 1-1/2 -0 o (2) 1/4" ITW SS TAPCON W/ 1-3/4" MIN. EMBEDMENT AND 1" 8|8
MIN. EDGE DISTANCE. 882 | |,
TO HOLLOW CONCRETE BLOCK: COPYRIGHT ENGINEERING EXPRESS®
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN. EMBEDMENT AND 4" OPEN POSITION LOCK
MIN. EDGE DISTANCE. SCALE: 3" = 1-0" 23-64831
TO G=0.42 MIN. WOOD HOST STRUCTURE: SCALE: NTS UNLESS NOTED
e (2) 1/4" WOOD SCREWS OR SHEET METAL SCREWS W/ 1-3/4"
MIN. THREAD PENETRATION AND 3/4" MIN. EDGE DISTANCE. oF
o (2)'1/4" LAG SCREWS W/ 1-1/2" MIN. THREAD PENETRATION 7
AND 3/4" MIN. EDGE DISTANCE. 4

J




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - f|16219.2 - dwg.dwg

8/21/2023 10:30 AM MATTHEW

COLBY BENNARDO, PE
PE# 95197 CA# 9885

AUGUST 21, 2023

SPACE RESERVED FOR DIGITAL SEAL
INFORMATION

WHEN DIGITALLY SEALED, THIS NOTE
SHALL BE FULLY COVERED ON SHEET 1

WHEN PRINTED OR PHYSICALLY SEALED,
SEAL OF CERTIFYING ENGINEER, AND
DATE OF CERTIFICATION SHALL BE
SHOWN TO THE RIGHT.

IN ALL CASES, CERTIFYING ENGINEER
AND CERT OF AUTH AS LISTED ON STAMP

/,//lON
oy

08/21/2023

10

oS 6T'$g;£DETA|LK . vijp o vip , FL# 16219.2

OR K1

] TS
4 wj

% g
i

i

L}
W
DETAIL L
OR 4a jg,\v—c@@
/\
]
Z

!
\
AN

rrq

97" MAX SLIDING PANEL HEIGHT
{
\

(X))
o

1=

T

ENGINEERING

@ EXPRESS*®

POSTAL ADDRESS:
401 W. ATLANTIC AVE R10 BOX 219

DELRAY BEACH, FL 33444
ENGINEERINGEXPRESS.COM

<

97" MAX SLIDING PANEL HEIGHT
97" MAX SLIDING PANEL HEIGHT

th Yﬁt

- #5 T2
¢ y =8
[ ANV ] 6.30" \_@ g ] [ AY ]
6.30" — — 1y = - \_@
\( ‘ ) 37" SLIDING 37" SLIDING 37" SLIDING 37" SLIDING

TYP. 37" SLIDING 37" SLIDING 34.00" MAX. PANEL, MAX PANEL, MAX PANEL, MAX PANEL, MAX
PANEL, MAX PANEL, MAX 1

34.00" MAX. 34.00" MAX.

1 1

ELEVATION: 1 HINGED AND 2 SLIDING PANELS ELEVATION: 2 SLIDING PANELS
ELEVATION: 2 HINGED AND 2 SLIDING PANELS SCALE: N.T.S. SCALE: N.T.S.
SCALE: N.T.S.

A Diiicn of ABC SUpply Co, Ine.

400 WEST MCNAB ROAD, FT. LAUDERDALE, FL 33309

Country

Wholesale Aluminum and Building Products

vip vip

COLONIAL SHUTTER

SLIDING PANEL TRACKS EXTEND
BEYOND FOR SHUTTER STORAGE
IN NON-STRUCTURAL OPEN
POSITION, TYPICAL.

Town

rrq

97" MAX SLIDING PANEL HEIGHT

i

|
:DETAlL L,
CL1, OR 42 éﬂi@%:
N\
1
/)
Z

FLORIDA BUILDING CODE EIGHTH EDITION (2023)
FLORIDA STATEWIDE APPROVAL (FSA FL#16219.2)

FDETAIL L
 OR 4a - g,\

[
\
AN

7/01/20
8/21/23

it

AT

MAXIMUM ALLOWABLE DESIGN
PRESSURE FOR SLIDING TRACK
OPTION:
+57.2 / -66.2 PSF

DRWN |CHKD | DATE
CCB |RWN
MLD |CCB

97" MAX SLIDING PANEL HEIGHT

th Ydt

[ LY ] [ LY ]
7 —_ 7 —_ AL
37" SLIDING 37" SLIDI 37" SLIDING 37" SLIDING 37" SLIDI 37" SLIDING 37" SLIDING P —————
PANEL, MAX [ | PANEL, MAX PANEL, MAX | | PANEL, MAX PANEL, MAX PANEL, MAX [ | PANEL, MAX

23-64831

SCALE:NTS UNLESS NOTED

ELEVATION: 4 SLIDING PANELS @ ELEVATION: 3 SLIDING PANELS oF
SCALE: N.T.S. SCALE: N.T.S. 7

FBC 2020 (20-26193)

FBC 2023

REMARKS

NOTE: SLIDING PANEL
CONSTRUCTION SAME AS
HINGED PANELS. )




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.2 - dwg.dwg

8/21/2023 10:30 AM  MATTHEW

COLBY BENNARDO, PE AUGUST 21, 2023
S ’
ANCHORS PR PE# 95197 CA% 9885 ! g,
; "LEG OUT" ALTERNATE LEG SPACE RESERVED FOR DIGITAL SEAL | N 6‘( BENN 7,
7 SLIDING PANEL DIRECTION NgOL JHrORATION | SV cENsg g 7,
;TRAcgt?-I,\éCDIIIJ(IJ_E | MAXIM U M ALLOWABLE DESIGN TYP. WHEN DIGITALLY SEALED, THIS NOTE | \\\ '-._O /’/
SHALL BE FULLY COVERED ON SHEET 1 -~ No 95197 . -
PPPPr I / — PRESSURE FOR SLIDING TRACK 5 | > =
AW WV Z OPTION: A YSEAL OF CERTIFVING ENGINEER, AND | * e
y V9 — 1/4"-20 MACHINE SCREW W +57.2 / 66.2 PSF N DATE OF CERTIFICATION SHALL BE | lg, =
NUTAT 12" 0[, TYP . - . SHOWN TO THE RIGHT. E OF \:
//// | IN ALL CASES, CERTIFYING ENGINEER | SCori0™ "'\@\e\\\\
le'_x0125 1 an AND CERT OF AUTH AS LISTED ON STAMP i Q ION L e \ N\ )
/ ALUMINMUM T = = ' | 111 0B e
/ANGLE o L IR i SLIDING PANELS CLIPPED
/ / 218 TOGETHER IN LOCKED POSITION FL# 16219.2
EEEEEELEEL BEREREDERA GG ~H )}
7 ////" Z1=l — L] 2
o =
2 Al IR WHEEL CARRIAGE R/ H—1/4-20 RIVNUT X
ANCHORS PE ] ASSEMBLY AT 3" s ANCHORS FE AT EACH WHEEL Z 539
/ LEG IN ® mn <
"LEG IN" FROM EACH END AND 7 SLIDING PANE CARRIAGE < <, E .. S
SLIDING PANE 10.25 “ 0.C,, TYP. y UJ nof
TRACK ANCHOR/, Wea V00N
SCHEDULE 1/4-20 RIVNUT // . JEL 1] A g
AT EACH WHEEL o === =" Wos_-%
i} Z a T
CARRIAGE X 1 . . C 250U
A (iiaisiziagaiqiaiaiaiaigs " B & - [S-JU]
S — 2x4:x0.125 m& Z:' = i =
A a1 ] ALUMINMUM ZX EZ0%
| | [ | 4 "LEG OUT* Qe N ANGLE WHEEL CARRIAGE, TYP. 0 : L
; SLIDING PANEK l AL@I ! L“_‘il i—ll & S ) AT SLIDING PANEL LOCKING EDGE, I.IJU.I 8 |<_E X Z
> TRACK ANCHO T . PROVIDE 1/4-20 BOLT AND NUT IN FRONT d =
%—\ /—% 7 SCHEDUL WHEEL OF WHEEL CARRIAGE. BOLT SHALL GO ; a LZD
TYP. I\ TYP 77 | CARRIAGE THROUGH ANGLE AND TRACK TO HOLD Z
' / 1/4"-20 MACHINE ASSEMBLY AT PANELS STATIONARY IN CLOSED POSITION. ham,
41 o
SCREW W/ NUTAT 3" FROM EACH ~
) 12" 0.C., TYP. END AND 10.25 * WHEEL CARRIAGE STOPS FOR SLIDING PANELS
/ | 0.C, TYP. SCALE: N.T.S. o)
r/—ALTERNATE LEG Q = ’&\
/ DIRECTION 0 § o
— - N
T ©
- 2 —
N SLIDING PANEL BOTTOM TRACK w o #*
\Y% SCALE: N.T.S. 1"x1"x0.062" MIN. 1"x0.062" MIN. ALUMINUM < = o
ALUMINUM ANGLE, PLATE, FASTENED TO PANEL mgi 2 8 %
FASTENED TO WITH 3/16" 5052 ALUMINUM =8
SLlDlNG PANEL TOP TRACK PANEL WITH 3/16" POP RIVETS @ 24" O.C. MAX : EE% g 5 I E_/
SCALE: N.T.S. 5052 ALUMINUM WITH ANGLES WITH PLATES =‘§E€ o |E E =
POP RIVETS @ 24"  —— == _= ag§ S|126 <
0.C. MAX zz: |2 = 3
n n . w
LEG IN" SLIDING PANEL TRACK ANCHOR SCHEDULE: "LEG OUT" SLIDING PANEL TRACK ANCHOR SCHEDULE: SLIDING PANEL INTERLOCK Qﬁ ElD w ¢
SCALE: N.T.G. Qs 5|29 %
HOST ANCHOR SLIDING PANEL VERTICAL SPAN HosT SLIDING PANEL VERTICAL SPAN E <|z 0O
STRUCTURE 36" 48" 60" 72" 84" o7" STRUCTURE ANCHOR 36" 48" 60" 72" 84" o7" g 2 21296 a
1/4" ITW SS TAPCONS W/ 1-3/4" MIN. 1/4" ITW SS TAPCONS W/ 1-3/4" MIN. § 0|8 2 =
EMBEDMENT AND 2-1/2" MIN. EDGE | 16" 0.C. | 16" O.C. | 16" O.C. | 16"O.C. | 16"O.C. | 16" O.C. EMBEDMENT AND 2-1/2" MIN. EDGE | 16"O.C. | 13"0.C. | 10"0.C. | 9"0.C. | 7"0O.C. | 6"O.C. < o w
= =
CONCRETE DISTANCE CONCRETE DISTANCE H £ O S5 E
(3192 PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4" (3192 PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4" = m 0
MIN. EMBEDMENT AND 2-1/2"MIN. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. MIN. EMBEDMENT AND 2-1/2"MIN. | 16" O.C. | 16"O.C. | 13"O0.C. | 11"O.C. | 9"O.C. 8" 0.C. E < <
EDGE DISTANCE EDGE DISTANCE § 5 a
o
CONCRETE | /4" MILLENIUM MILLFAST W/ 1-3/4* CONCRETE | 1/4" MILLENIUM MILLFAST W/ 1-3/4" = & &
PSI MIN. MIN. EMBEDMENT AND 2-1/2"MIN. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. | 16" O.C. MIN. EMBEDMENT AND 2-1/2"MIN. | 16" 0O.C. | 13"O.C. | 10"O.C. | 9"O.C. 7"0.C. 6" O.C. o e d
(3500 PS ) (3500 PSI MIN.) <
EDGE DISTANCE EDGE DISTANCE
1/4" MILLENIUM MILLFAST W/ 1-1/4" | ) . ) ) 1/4" MILLENIUM MILLFAST W/ 1-1/4" % % W MEE
MIN. EMBEDMENT AND 2-1/2" MIN. | 16"0.C. | 13"0.C. | 11"0.C. | 9"0.C. | 8"0.C. | 7"OC. MIN. EMBEDMENT AND 2-1/2"MIN. | 7"0.C. | 5"0.C. | 4"0OC. NNE
EDGE DISTANCE EDGE DISTANCE Z % % ISR
1/4" ITW SS TAPCONS W/ 1-1/4" MIN. 1/4" ITW SS TAPCONS W/ 1-1/4" MIN. W ol
EMBEDMENT AND 2-1/2" MIN. EDGE | 15"0.C. | 12"0.C. | 9"0.C. | 8"0.C. | 7"O.C. | 6"'OC EMBEDMENT AND 2-1/2" MIN. EDGE | 6"0O.C. | 4"0.C. | 4"0.C. | 3"0.C. | 3"0O.C. 2213
DISTANCE DISTANCE / % o o
HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4" HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4" % 2 |mq
CONCRETE | MIN. EMBEDMENT AND 2-1/2" MIN. | 16" O.C. | 13"0.C. | 10"0.C. | 8"0.C. | 7"0.C. | 6"O.C. CONCRETE | MIN. EMBEDMENT AND 2-1/2"MIN. | 6"0.C. | 5"0.C. | 4"0.C. | 3"0.C. | 3"0OC. Eols
BLOCK EDGE DISTANCE BLOCK EDGE DISTANCE W,
5/16" ITW TAPCON XL W/ 1-3/4" MIN. 5/16" ITW TAPCON XL W/ 1-3/4" MIN. _
EMBEDMENT AND 4" MIN. EDGE | 16" O.C. | 16"0.C. | 15"0.C. | 13"0O.C. | 11"0.C. | 9"O.C. EMBEDMENT AND 4" MIN. EDGE | 10"0.C. | 7"0.C. | 6"0.C. | 5"0.C. | 4"0.C. | 4"0OC. 8
DISTANCE. DISTANCE. S
5/16" DEWALT ULTRACON W/ 1-1/4" 5/16" DEWALT ULTRACON W/ 1-1/4" 7 7 % 2|18
MIN. EMBEDMENT AND 3-1/8" MIN. | 16" O.C. | 16"0.C. | 16" O.C. | 14" O.C. | 12"0.C. | 10" O.C. MIN. EMBEDMENT AND 3-1/8" MIN. | 10"O.C. | 8"0.C. | 6"O.C. zg/8
EDGE DISTANCE EDGE DISTANCE % % % =88
1/4" LAG SCREW W/ 1-1/2" MIN. 1/4" LAG SCREW W/ 1-1/2" MIN. e8]
EMBEDMENT AND 3/4" MIN. EDGE | 16" O.C. | 16" O.C. | 16"O.C. | 16" O.C. | 16" O.C. | 16" O.C. EMBEDMENT AND 3/4" MIN. EDGE | 16" 0.C. | 14"0.C. | 11"0.C. | 10"0.C. | 8"0.C. | 7"O.C. COPYRIGHT ENGINEERING EXPRESS®
WOOD (G=0.42 DISTANCE WOOD (G=0.42 DISTANCE 23-64831
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2" MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2" B
MIN. EMBEDMENT AND 3/4" MIN. | 16"O.C. | 16" O.C. | 16" 0.C. | 16" O.C. | 15"O.C. | 13"O.C. MIN. EMBEDMENT AND 3/4"MIN. | 13"0.C. | 10"0.C. | 8"0.C. | 7"0.C. | 6"0.C. | 5"O.C. SCALE:NTS UNLESS NOTED
EDGE DISTANCE. EDGE DISTANCE.
OF

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND

SLIDING PANEL VERTICAL SPANS FOR "LEG IN" CONDITION. ANCHORS SHALL BE LOCATED 2" MAX
FROM TRACK ENDS.
*MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND

SLIDING PANEL VERTICAL SPANS FOR ALTERNATE "LEG OUT" CONDITION. ANCHORS SHALL BE
LOCATED 2" MAX FROM TRACK ENDS.
*MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

7

6

J




c:\users\matthew\engineering express\production - documents\projects\23-\23-64831 multiple products 2023 fbc update fl 16219\work\2023 fbc\23-64831 - fl16219.2 - dwg.dwg

8/21/2023 10:30 AM MATTHEW

PLAN VIEW 1
SCALE: 1-1/2" = 10"

CLOSED POSITION

——‘r——i?ﬂ mam
—————— - \ AT
R )
oy . <S> §'!‘ {
= J -

PLAN VIEW 4
SCALE: 1-1/2" = 10"

PLAN VIEW 7

SCALE: 1-1/2" = 1'-0"

CLOSED POSITION fett =Py

PLAN VIEW 2
SCALE: 1-1/2" = 1'-0"

PLAN VIEW 5

SCALE: 1-1/2" = 1'-0"

CLOSED POSITION

be

PLATE 0.090"x1"x3-1/2" WITH (2)
1/4"® RIV-NUTS (TOP & BOTTOM
OF PANELS)

CLOSED POSITION

CLOSED POSITION

P e L

COLBY BENNARDO, PE
PE# 95197 CA# 9885

SPACE RESERVED FOR DIGITAL SEAL
INFORMATION

WHEN DIGITALLY SEALED, THIS NOTE
SHALL BE FULLY COVERED ON SHEET 1

WHEN PRINTED OR PHYSICALLY SEALED,
SEAL OF CERTIFYING ENGINEER, AND
DATE OF CERTIFICATION SHALL BE
SHOWN TO THE RIGHT.

IN ALL CASES, CERTIFYING ENGINEER
AND CERT OF AUTH AS LISTED ON STAMP

1y
awww\iiieg,
\\\\\\'ﬁ“ BENN ;///’/
N
N . "\NCENsg"- ¢ 0
3 07
S No 95197 - =
* * =
‘s
N
AfE OF - é‘”\\
Sorip? - N
/. IONAL € \\g\GNED:

AUGUST 21, 2023

7, \
Y01y o203

""""""""1 -"F",'ﬁ

’
\

N\

'—\‘|||

) PLATE 0.090"x1"x3-1/2"
/_WlTH (2) 174" ® RIV-NUTS
I (TOP & BOTTOM OF PANELS)j]

|
5y
NI P TID DRI ™A o Pl TET TN = I Yt et

CLOSED POSITION

PLAN VIEW 3
SCALE: 1-1/2" = 17-0"
SR PLATE 0.090"x1"x3-1/2" WITH (2)
| [ “/ 1/4"% RIV-NUTS (TOP & BOTTOM
h d _______________ L

OF PANELS)

PLAN VIEW 8

SCALE: 1-1/2" = 1"-0"

CLOSED POSITION

SS—

PLAN VIEW 6

SCALE: 1-1/2" = 1'-0"

CLOSED POSITION

FL# 16219.2

ENGINEERING

@EXPRESS ®

POSTAL ADDRESS:
401 W. ATLANTIC AVE R10 BOX 219

DELRAY BEACH, FL 33444
ENGINEERINGEXPRESS.COM

A Diiicn of ABC SUpply Co, Ine.

400 WEST MCNAB ROAD, FT. LAUDERDALE, FL 33309

S untry

n

Wholesale Aluminum and Building Products
COLONIAL SHUTTER

Tow

FLORIDA BUILDING CODE EIGHTH EDITION (2023)
FLORIDA STATEWIDE APPROVAL (FSA FL#16219.2)

8/21/23

DRWN |CHKD | DATE
CCB |RWN | 7/01/20
MLD |CCB

FBC 2020 (20-26193)

FBC 2023

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

23-64831

SCALE:NTS UNLESS NOTED

OF

? 7

J




	Sheets and Views
	23-64831 - FL16219.2 - DWG-01
	23-64831 - FL16219.2 - DWG-02
	23-64831 - FL16219.2 - DWG-03
	23-64831 - FL16219.2 - DWG-04
	23-64831 - FL16219.2 - DWG-05
	23-64831 - FL16219.2 - DWG-06
	23-64831 - FL16219.2 - DWG-07


		2023-08-21T13:58:40-0400
	Colby Bennardo




